Q H=se 7|82 (K12-212)

+ © 25 7|7k 202414 122 112! 06A| ~ 122 1221 06A
SHE A (28 7|7F 2024 122 112 06A| ~ 122 1221 06A])

Ot
g
=
o
g
bt
ox
=

[20244 122 11 06A| 2HE ]

- WA 5 BE 25 REH LSS H| -

> W= B3 714 N
O HTIO6A) LM
- 73 30| 2 o], A2 10km 0Lt

O U2 S= SFX[LOM 5E22 0|5ots 17| 7FEAIE| o S22, 25(11Y) LTURH dIsdnt sutsd
2 &= SSAYM Sz 0|Sdt= 17| Ye| 7FgAE|0f| SASLICE
- (28) = Y0 & EALL, 2SS LEFH SHX|1 Y2 RFH S2|1 H7F S EL

- (W) H= 50| 7tE & HAFLICH

O (YHSE) LY MM OFY ALOIB~7ANO & 7] ME|Aol 2det Aoz of JELCt

O (EZSE) UY OFH6~7Al), 2&7| Mol 2de ez o ELCt

O (ZYsd) 2= ILFE HAO[of H[Zt Li2[HA APZ0| 4km Li2|, 751 2= 500ft Liel2 RS LT
O (f=3) L2 BHE0| BFS= 15kt XL 7SS 25kt2 A7 Lot 2 W7 AWSH L




TAF EE (06A| 7|F)

i 1124(%) 12%(8)

=g 06 07 08 09 10 11 12 13 14 15 16 17 18 19 20 21 2 23 00 Ol 02 03 04 05 06
oI

a4z

HF

ot

=M

oo RA RA RA| RA RA RA RA RA RA RA RA RA RA

o
Tauer  Fe 21 [
O gaArg
X S, i, g7, &5 ZLEF M fFS)2 7|40 2= 2571dE F2|H(https//amokmagokn) S EM (T
LE O BE 4 BE MH[A)0M =20 MI7I HFZfL|CE




